MA 162 Exam 3 Fall 2000

NAME SoLyYTION KEY

STUDENT ID

REC. INSTR. REC. TIME
INSTRUCTIONS:

1. Verify that you have all the pages (there are 5 pages).

2. Fill in your name, your student ID number, and your recitation instructor’s name
and recitation time above. Write your name, your student ID number and division
and section number of your recitation section on your answer sheet, and fill in the
corresponding circles.

Mark the letter of your response for each question on the mark-sense answer sheet.
There are 12 problems worth 8 points each.

5. No books or notes or calculators may be used.
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